LABJNDu6-Dreieckshelligkeit T*

T* YocmL*w - nc=100,

T*LaBanDus =[IN[A 1n+A2nVI/(A 20A0n)] (Ya/100<Y<=Yyo)
T#(3,6)=146,T*,(18)=332,T*y(90)=517 4"
4

T*,=332,22 m,=264,66
L* =49, T* =332

Anwendungs-
bereich

V=18
Yw=90

Yn=3.6

LABJINDu6

Normfarbwertdifferenz

Yoc=L*w - nc=100,
T*LaBanDu6 =[NI(A 1n+A2a)I/(A 20A0n)] (Ync/200<Y<=Y,0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pes1,5, Agn,a=1,0, siehe CIE 230:2019

Anwendungs-
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1v,=18
V=90

Yn=3.6

log (AY/Y) LABJINDU6

. Normfarbwertemfindlichkeit
SHEYY Yoc=L*w - nc=100,
T*LaBINDus=[IN[(A 1n+A2nY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AY/Y=Agn[A 1 +AYIY
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T*,=332 dY,=0,18 dY,/Y,=0, 010]] reich
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1y,=18
Yw=90

Yn=3.6

LABJINDu6
Normfarbwertkontrast

Y=L w nc=100,
T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2nY)]
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LABJINDuG6 relative Dreieckshelligkeit T*/T*
YocmL*w - nc=100,

T*Laganbus =[IN[A 1n+A2nV)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
T#n(3,6)=146,T* ,(18)=332,T*(90)=517

T*T* =1, m;=0,79
L* ;=49,T*,=332

Yn=3.6  Yyw=90

LABJNDUuG relative
Normfarbwertdifferenz

Yoc=L*w - -nc=100,
T*LABINDUG=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Yd/100<Y<=Y,c)
AY/dY,=AgnA 11+AanYI/dY,

log(AY/AY,)
AYIAY,

T*,=332, dY,=0,18 dY_/Y,=0, (‘;(‘;

YN=3.6 . Yw=90

log [(AY/Y) I (AYIY)] LABJINDuS relative
Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.

T*Laganbus =[IN[A 1p+A2nV)V(A 20A0n)] (Yd/100<Y<=Y,c)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

|Og[(dY/Yy(dY/Y)_|] 0, m=-0, 13
T%,=332 dY,=0,18 d¥,/Y,=0,0101} bereich

1y,=18
Voy=00

Yn=3.6

log [(Y/AY) I (YIAY),] LABJINDu6 relativer
Normfarbwertkontrast

CrlCry=(YIAV)I(YIAY)y yoi % 2100,

T*Laganbus =[IN[A 1n+A2nV)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
(YVIAYY(YIAY), =Y IYIAY Y )TA oA g Agr VI (Y/AY),
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